HREAHE: 201504 ~ 201603
RO E X HER: 2T

[EH40)RER 5 : TFTEBHL ~ EBEL
(3] FiHOH 5&: 2T

(HMIBAREEHER: 148
(HHIBARFPERS: £T

(30D 2T
(E£dm1tER) - 2T
(RFHB) ABefERE - 2T
WAEZ M fmbE1—R-SIE

N ERAEARE

REAL_F

EISEE




BOEMFEY 6.3 8.3 00 8.8
EREOEMEHAY) 26.1 15.4 326
EEREOEMHAEY 31.1 14.3 55.1
SEXHIUHOBESE 16.1 | o0 125
SMLIEE 0.9 0.0

[P 1.9 0.0 3.8

(TN 0.5 0.0 0.0

b EE 1.9 0.0 18

3 fn 15 | o0 0.0

R 0.5 0.0 0.0

AEREEHEHR 0.7 1.2 0.0

BEE 0.6 0.0 0.0

SRR 0.6 0.0 0.0

a2 P 1.2 0.0 0.0

BEEAE 35 0.0

BT 0.0 0.0 0.0

BRE 0.0 0.0 0.0 0.0
B 0.9 0.0 0.0 16.7
FEEE 0.0 0.0

FE 42 0.0

R#h R URER o9

ILEOEMIHA 2.8 0.0

R B B AE 0.3 0.0

BREAILZT 0.0 0.0

2EEBEE 5.4 0.8 2.0 14.3




g

BEOEMEEY 6.3 : : : - - - - - - -
BB HEY 26.1 - - - - - - a - - -
EEOEMHED 31.1 - - : : - - - - - -
SEXBLUMOEIEHE 16.1 - - - - - - - - - -
SRR 0.9 - - - - - - a - - -
iz 19 - = - - = = - - = =

IHA 05 - - - - - - - - - -

wr == 19 _ _ _ _ _ _ _ _ _ _

fi HH 15 - - - - - - - - - -
BRE 05 - - - - - - - - - -
xﬂ:g ﬂggﬁﬁﬂ.f& 0.7 - - — - - — — — - -

Eh 0.6

2t 0.6 - - - - - - - - - -
=i % 1.2 - - - - - - - - - -
BERE 35 - - - - - - - - - -
B3I ; 0.0 - - - - - - - - - -
BRE 0.0 - - - - - - - - - -
e 0.9 - - - - - - - - - -
F=AAE 0.0 - - - - - - - - - -
0 4.2 - - - - - - - - - -
Ex,.:t Y ﬁ!.'“:t 4.7 — — - - - — - — — -
LEQENHE 2.8 - - - - - - - - - -
Jixdesibnd 0.3 - - - - - - - - - -
REANLZT 0.0 - - - - - - - - - -
ERBaE 5.4 - - - - - - - - - -
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BEOEMEEY 6.3 : : : - - - - - - -
BB HEY 26.1 - - - - - - a - - -
EEOEMHED 31.1 - - : : - - - - - -
SEXBLUMOEIEHE 16.1 - - - - - - - - - -
SRR 0.9 - - - - - - a - - -
iz 19 - = - - = = - - = =

IHA 05 - - - - - - - - - -

wr == 19 _ _ _ _ _ _ _ _ _ _

fi HH 15 - - - - - - - - - -
BRE 05 - - - - - - - - - -
xﬂ:g ﬂggﬁﬁﬂ.f& 0.7 - - — - - — — — - -

Eh 0.6

2t 0.6 - - - - - - - - - -
=i % 1.2 - - - - - - - - - -
BERE 35 - - - - - - - - - -
B3I ; 0.0 - - - - - - - - - -
BRE 0.0 - - - - - - - - - -
e 0.9 - - - - - - - - - -
F=AAE 0.0 - - - - - - - - - -
0 4.2 - - - - - - - - - -
Ex,.:t Y ﬁ!.'“:t 4.7 — — - - - — - — — -
LEQENHE 2.8 - - - - - - - - - -
Jixdesibnd 0.3 - - - - - - - - - -
REANLZT 0.0 - - - - - - - - - -
ERBaE 5.4 - - - - - - - - - -




g

BOEMHEY 6.3 - -
HEEOEMEHEY 26.1 - -
EEOEMIFEY 31.1 - -
SEIXBSIUMOE A 16.1 - -
SHEDEREE 09 - _
i 1.9 - -
mE 05 - -
BAEZE 1.9 - -
fibd i 1 1.5 - -
R 05 - -
xﬂ:gﬂ.ggﬁﬁﬂfﬁ 0_7 — -
BEE 0.6 - -
ol B 0.6 - -
Al x 1.2 - -
BEE 35 - Z
BT 4 0.0 - -
BHRE 0.0 - Z
P52 0.9 - Z
FEEE 0.0 - -
il 4.2 - -
B R 4.7 - -
IEDEMHE 2.8 - -
ERBEERE 0.3 - -
BREAILZT 0.0 - -
SHREAE 5.4 - =




